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(A+B+C+D+E+F+G) A BETRESETE DEFE (BB | (HERE EPE
X 2

&t L2 T & E2 T B | X |F|B| X

FR16E38 | 12,872 6,639 6,233 12,618 6,526 6,092 99 55 44 45 - 45
ERITE3R | 12,414 6,428 5,986 12,218 6,321 5,897 126 68 58 31 2 29
X 4o m | 4948 2,537 2,411 4,861 2,499 2,362 48 24 24 24 - 24
AR/ T 1,114 994 520 1,087 570 517 0 9 1 4 2 2
- ] 882 452 430 812 442 430 16 4 12 - - -
B H ™ 819 422 397 801 415 386 9 10 9 2 - 2
£ B ™™ 885 452 433 875 450 425 9 7 2 1 - 1
B # ™™ 400 204 196 394 200 194 3 - 3 - - -
EZFAR T 205 107 98 205 107 98 - - - - - -
(U == I ] 228 133 95 228 133 95 2 2 - - - -
SkEHE ™ 224 115 109 222 114 108 3 2 1 - - -
OE W 231 133 98 222 125 97 - - - - - =
F &£ ™ 656 329 321 646 326 320 4 2 2 - - -
BRXE W 407 209 198 406 209 197 5 4 1 - - -
X B # 10 1 3 10 1 3 - - - - - =
E R Hr 37 23 14 317 23 14 - - - - - -
B s M 34 15 19 33 15 18 - - - - - =
E = Hr 134 67 67 134 67 67 - - - - - -
K & H 47 24 23 46 23 23 - - - - - =
Z Ik Hr 83 49 34 82 48 34 T -1 - - -
B & 314 153 161 308 148 160 1 1 - - - -
W & M 16 43 33 15 42 33 - - - - - -
¥ ml ET 163 94 69 159 92 67 3 1 2 - - -
E R H 82 39 43 82 39 43 - - - - - -
mbe  ET 102 96 46 101 56 45 1 1 - - - =
O E M 117 95 62 117 95 62 1 T - - - -
o xk H 216 116 100 215 116 99 - - - - - =
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| B |k |&| B | x| & B % | & B | x |5 |B|%k| & 5 = 7

18 9 9 8 8 - 8 56 25 101 40 61 1 - 1 98.0 98.3 97.7 | 165
6 3 3 4 4 - 69 54 15 8 44 42 - - - 0984 98.3 98.5 | 175
5 3 2 1 1 - 26 21 5 31 13 18 - - - 982 98.5 98.0 | X%
- - - - - - 11 10 1 12 12 - - - - 976 96.0 99.4 | B
_ - - - - - 4 4 - 6 6 - - - - 989 97.8 100.0 | d;#
- - - 1 1 - 4 3 1 11 3 8§ - - - 97.8 98.3 97.2 | BHH
- - = 1 1 - 2 - 2 6 1 5 - - - 089 99.6 98.2 | {&£1m
_ - - - - - 5 3 2 1 1 - - - - 9085 980 99.0 | H#¥
_ _ - - - _ - - - - - - - - - 100.0 100.0 100.0 |EZAR
- - - - o _ - - - - - - - - - 100.0 100.0 100.0 | @A
- - - - - = - - - 2 1 1T - - - 991 99.1 99.1 |2#%5=
- - - - - - 1 1 - 2 1 1T - - - 96. 1 94.0 99.0 | ¥
_ - - - - - 7 3 4 3 - 3 - - - 085 99.1 97.9 | =&
_ - - - - - - - - 1 - 1T - - - 99.8 100.0 99.5 (2% XK
_ _ - - - _ - - - - - - - - - 100.0 100.0 100.0 | XxH
- - - - - - - - - - - - - - 100.0 100.0 100.0 | ER
_ - - - - - - - - 1 - 1T - - - 97.1 100.0 94.7 | RS
- - - - - - - - - - - - - - - 100.0 100.0 100.0 | Ex
_ _ - - - - - - 1 1 - - - - 979 958 100.0 | E&
- - - - - = - - - 1 1 - - - - 088 98.0 100.0 | Zif
1 - 1 1 1 - - - - 4 4 - - - = 98.1 96. 7 99.4 | BH
- - - - oo~ 987 9.7 100.0 | wE
_ - - - - - 2 2 - 2 - 2 - - - 97.5 97.9 97.1 | #k&R4
_ . - - - _ - - - - - - - - = 100.0 100.0 100.0 | FERN
_ - - - - = - - - 1 - 1T - - - 99.0 100.0 97.8 |iZ*mkx
- - - o _ - - - - - - - - = 100.0 100.0 100.0 | hE
_ - - - - - - - - 1 - 1T - - - 99.5 100.0 99.0 | ¥




